521 Analysis'T Spring 2011
Quiz 2

1. (a) Let {z,} be a real sequence. State the definition of the property
that z,, converges to oo.

In the next two parts, be sure to justify fully what you claim.

(b) Let s, =n?+2011- (-1)™. Usmg the deﬁmtlon from part (a), prove
or disprove that s, — oo.

(c) Let t, =1 + 555 Using the: deﬁmtlon from part (a), prove or dlSpI‘OVG
that ¢, — oo. . .

(d) T have a real sequence {yn} that is Cauchy and converges to infinity.
What can you say about such a "sequence? Justify your claim by appeal to
results we know. :
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